4 (a) OA =i+7j-2k, OB = 4i+3j+3k, OC = 2i+10j+ 9k
OD = OC + BA = (2i +10j + 9Kk) + (=3i + 4j — 5k
ﬁ__( T+ 173k Ml | 3.1a
or OD = O0A+BC = ({+7j—-2K)+ (-2i+7j+ 6k)
So OD = —i+14j+4k Al 1.1b
(2)
®  {aB=si-4j+sk = b 8= JO7 + -4y + ) {=J5_0=5J5} Ml 1.1b
As[4¥ =100 then [4x] = 248 = AY = 248
OX = OA+24B = (i+7j - 2K) + 2(3i — 4j + 5k)
. Ml | 3.1a
or  OX = OB+ AB = (4 +3j+ 3k) + (3i - 4j + 5k)
So OX = 7i—j+8k only Al | L1b
3)
(5 marks)

Question 4 Notes:

(a)
M1:
Al:

(b)
M1:

M1:
Al:

A complete method for finding the position vector of D
(1)

—i+14j+4k or | 14

4
/

A complete attempt to find EB" or ‘ Ezj"

A complete process for finding the position vector of X
(72
7i—j+8k or | -1
8




